Wwilda

Machine Tool Accessories

Weifang Wilda Machinery Co.,Ltd.




wilda

BT/MTAHREEKTERE (RETR )
BT/MTA ADAPTER ( WITH TANG )

A7/ Unitrmm
IS Model BT NO-MT.NO-L MT.NO. D L c w Fig EEWi(Ka)
BT30-MTA1-45 45 20 - 1 0.8
1 12.065 5.6
BT30-MTA1-105 105 25 2 0.9
BT30-MTA2-60 . 60 o . 1 0.9
BT30-MTA2—120 s 120 ! 2 12
BT30-MTA3-80 3 23.825 80 40 8.4 1 1.0
_MTAT- 45 1 ,
BT40-MTA1-45 : o . . 1.0
BT40-MTA1-120 120 2 1.3
BT40-MTA2-60 60 ) 1 1.4 ‘
' = 2 17.780 32 6.6 |
BT40-MTA2-120 120 1 1.4 -
= = . 75 1 1.2
BT40-MTA3-75 5 s A g4
BT40-MTA3-135 135 2 1.8
BT40-MTA4-95 95 1 1.4
BT40-MTA4-165 165 2, 2.4
BT50-MTA1-45 45 1 4.0
BT50-MTA1-120 1 12.065 120 25 5.6 ? 4.3
BT50-MTA1-180 180 : 4.3
BT50-MTAZ2-45 45 1 4.0
BT50-MTA2-135 2 17.780 135 32 6.6 ; 44
BT50-MTA2-180 180 48
BT50-MTA3-45 . 45 1 39
BT50-MTA3-150 3 23.265 150 40 8.4 : | 47
BT50-MTA3-180 180 4.9
BT50-MTA4-75 75 1 40 '
4 31.067 50 12.4 |
BT50-MTA4-180 180 2 54 .
BT50-MTA5-105 5 44399 o 105 65 16.5 1 46




BT/MTB #iZHKTRE ( BBE )
BT/MTB ADAPTER ( SCREW LOCK )

/7 MT.NO
P
i N
B A7 /Unitmm
AI2 Mode! BTL.NO X MT.NO-L BEREFMT.NO L £ G BRI IEN Mill Type
BT30 X MTB1-45 1 45 25 M6 ®10 ®14
BT40 X MTB2-60 2 60 32 M10 O16 D12
BT40 X MTB1-45 1 45 25 M6 ©10 ®14
BT40 X MTB2-60 2 60 32 M10 © 15 ®22
BT40 X MTB3-75 3 75 40 M12 ©24 ®32
BT40 X MTB4-75 4 75 48 M16 ©32 OS50
BT50 X MTB1-45 1 45 25 M6 ®10 D14
BT50 X MTB2-45 2 45 32 M10 P16 ©22
BT50 X MTB3-60 3 60 40 M12 ®24 32
BT50 X MTB4-75 4 75 50 M16 ©55 ©60
BT50 X MTB5-120 5 120 70 M24 ®40 ®60
724 RE (HHFE)
7:24 ADAPTER ( DRAW BAR )
2
i / i S T
( LeEd )
B/ Unit:rmm
B8 Vodel BLNOX TSANO-LT | L L1 D d2 K1 Kz T BEEWH(Kg)
BI40XTSAGOM-76 | . ., M1 X 1.75P 1.8
BT40 X TSA30U-75 ' 63 & . 12" W12 1.8
BTso.x TSA?QM-?& HOR 25 18 M12X 1.75P 50
BT50 X TSA30U-75 12" W12 5.0
50X TSAAOM—75 100
BTSOHX TSMQM 5 848 a5 8 M16X2.0P 4.6
BT40 X TSA40U-75 5/8" W11 46




Wilda

7:24/MS TRE ( FER )
7:24/MS ADAPTER (END OPENING TYPE)

P2ANOS

e
f N v{
L
B AH/Unitmm
7:24%5%&%?&1@1 D b1 d L EHWIKg)
30=1 24 31.75 12.065 75 0.64
30-2 30 (S T 17.780 100 Q.72
30-3 36 31.75 23.825 130 0.80
30-4 48 31.75 31.287 165 3.00
40-1 24 44 .45 12.0685 80 0.80
40-2 30 44 .45 17.780 85 0.83
40-3 36 44 45 23.825 100 0.88
40-4 48 44.45 31.267 145 2.90
40-5 61 44 .45 44.399 225 292
50=1 25 69.85 12.065 127 3.00
50-2 32 69.85 17.780 127 2.94
50-3 40 69.85 23.825 127 258
504 48 69.85 31.267 127 2.62
505 61 69.85 44 399 180 3.20
7:24/MS TEE (fuHFa )
7:24/MS ADAPTER(DRAW BAR TYPE)
24NO.S 1] |

-:.|

(=]

BA/Unit:mm

= P . =
7:24%{;'.7 sh-ﬁi%.mr D D1 d L EEW(Kg)

30-MIB1 25 31.75 12.065 118

40-MTB1 05 44 45 12.065 143

50-MTB1 05 69.85 12.065 160 3.00

50-MTB2 32 69.85 17.780 160 294

50-MTB3 40 69.85 23.825 160 2.58

50-MTB4 48 69.85 31.267 180 2.62

50-MTB5 61 69.85 44.399 210 3.20




i 01

U

7:24/MS THZE (REZE! )
7:24/MS ADAPTER (WITH TANG)

o THANGS (NT)

BA/Unitmm

7:_24;\%;%?%1 7:24 NO.S MTANO.T D D1 d L
30-MS1 MTAT 25 12.065 118
30-MS2 : MTA2 32 17.780 118
30-MS3 e MTAS 10 SLIE 23.825 138
30-MS4 MTA4 48 31.267 212
40-MS1 MTA1 25 12.085 143
40-MS2 MTA2 32 17.780 143
40-MS8 ISO40 MTAS3 40 44.45 23,825 158
40-MS4 MTA4 48 31.267 188
A40-MS5 MTAS 61 44.399 232
50-MS1 MTA1 25 12.065 172
50-MS2 MTA2 32 17.780 187
50-MS3 ISO50 MTA3 40 69.85 23.825 192
50-MS4 MTA4 48 31.267 197
50-MS5 MTAS 61 44.399 273

BT/EOC 3§k 71k

BT/EOC MILLING CHUCK [“—_L‘m

P51 =110 m:
&
BB ALUnit:mm

#8Model BTNOXEOCNO-L1] L L1 D di d2 T B #WiKg)
BT30X EOC25-70 118.4 70 46 125 60 M12X 1.75P 1.00
BT40 X EOC25-70 135.4 70 63 17.0 60 1.65
BT40 X EOC25-100 165.4 100 63 17.0 60 M16 X 2.0P 225
BT40 X EOC25~120 185.4 120 63 17.0 60 270
BT40 X EOC32-90 155.4 50 63 17.0 72 2.00
BT40 X EOC32-105 170.4 105 63 17.0 72 M20 X 2.0P 2.20
BT40 X EQC32-120 185.4 120 63 17.0 72 2.45
BT50 X EOC25-85 186.8 85 100 25.0 60 4,45
BT50 X EOC25-100 201.8 100 100 25.0 60 M16X2.0P 448
BT50 X EOC25-120 221.8 120 100 25.0 60 5.20
BT50 X EQC32-90 1918 90 100 25.0 72 4.60
BTH0 X EOC32-105 2063 105 100 25.0 72 M24 X 2.0P 4,85
BT50 X EOC32-120 2218 120 100 250 72 5,35




Wwilda

BT/MAS 37 $t 71 3% 3
BT/MAS MILLING CHUCK

A /Unit:mm

A2 Model BT NO.X ER NO.~L1 L1 L d1 d2 da T
BT30XER16-70 70 118.4 28
BT30XER16-100 100 148 .4 28 16 28 M10X1.5P
BT30X ER16-120 120 168.4 28
BT30X ER20-70 70 118.4 34
BT30X ER20-100 100 148.4 34 20 34 M12X1.75P
BT30X ER20~135 135 183.4 a2
BT30X ER25-70 70 118.4 42 )
BT30 X ER25-135 135 183.4 - & 42 Mixa o
BT30X ER32-70 70 118.4 50 32 45 M16X 2.0P
BT30XER32-100 100 148.4 50 32 45 M16X 2.0P
BT30X ER40-80 80 1284 63 40 53 M16X 2.0P
BT40XER16-70 70 135.4 28
BT40X ER16-100 100 165.4 55 " 28 EAtER B
BT40X ER16-125 125 190.4 28
BT40X ER16-150 150 215.4 28
BT40X ER20~70 70 1354 34
BT40X ER20-100 100 170.4 34
BT40XER20-135 135 200,4 i & 34 sl
BT40 X ER20-150 150 2154 34
BT40X ER25-70 70 135.4 42
arao-x FR25-90 20 155.4 & 25 42 BT
BT40X ER25-125 125 190.4 42
BT40X ER25- 150 150 2154 42
BT40X ER32-70 70 135.4 50
BT40X ER32-100 100 165.4 50 32 50 M16 X 2.0P
BT40 X ER32-150 150 215.4 52
BT40 X ER40-80 80 145.4 63
BT40 X ER40-100 100 165.4 63
BTA0X ER40-120 120 1854 E o B3 | e0X20F
BT40X ER40-150 150 215.4 63
BT40 X ER50-85 85 145.4 59
BT40X ERBD-100 100 1654 18 R gy |t %edk




BT30.M12
BT40.M16
BT45.M20

BT30:484 |

BT30:946
BT40:063

BT50:9100

BT40:65.4
BT45:82.4
BT50:101.8 | BT NO:

B A7/Unit:mm
#-=Model BT NO.X ER NO.-L1 Li L di d2 ds i
BT50 X ER16-70 70 171.8
BT50 X ER16-90 90 191.8
BT50 X ER16-105 105 206.8 28 16 28 M10X 1.5P
BT50XER16-135 185 236.8
BT50 X ER16-165 165 266.8
BT50 X ER20-70 70 171.8
BT50 X ER20-90 90 191.8
BT50 X ER20-105 105 206.8
BT50 X ER20-135 185 236.8 34 20 34 M12X 1.75P
BT50 X ER20-150 150 251.8
BT50 X ER20-165 165 266.8
BT50 X ER20-200 200 301
BT50 X ER25-70 70 171.8
BT50 X ER25-105 105 206.8
BT50 X ER25-135 135 236.8 o R R L
BT50 X ER25-165 165 266.8
BT50 X ER32-80 80 181.8
BT50 X ER32-100 100 2018
BT50 X ER32-120 120 221.8 50 32 50 M16 X 2.0P
BT50 X ER32-150 150 251
BT50 X ER32-200 200 301
BT50 X ER40-80 80 18i1.8
BT50 X ER40-100 100 201.8 63 40 63 M20 X 2. 0P
BT50 X ER40-120 120 2218
BT50 X ER40-135 1385 236.8
BT50 X ER50-90 90 191.8
BT50 X ER50-120 120 221.8 78 50 78 M24 X 2.0P
BT50 X ER50-165 165 266.8
BT50 X ER16-70 70 142
BT50XEB16—1OO 100 “172 o8 16 o8 M12X 1.5P
BT45XER16-150 150 222
BT45 X ER32-80 80 150
BT45 X ER32-120 120 190 - oa oY e s et
BT45 X ER40-80 80 148
BT45 X ER40-120 120 188 a8 as S L
BT45 X ER50-100 100 161 78 50 78 M22 X 1.5P




Wwilda

BT/TG #B3EB A gt T K%
BT/TG SUPPER POWER MILLING CHUCK

v
@E] =" ¢ NO

B A7 /Unit:mm

d1 TEST BAR L EJIL\J:E
Min. Dia. Max. Dia. Concentricity

3 6 16

6 10 25 Lo

10 18 40

18 24 50 0.01

24 32 60

B A7 /Unit:mm
#I2 Model BT NOXTG NO.-L1 L L1 D di t1 i BEEWH(Kg)

BT30XTG75-70 118.4 70 ) 1.10
BTe0XTG75-100 | 1484 | 100 | 46 50 M16X2.0P TW1-1/2'-12 115
BT30XTG100-100 [ 148.4 100 60 TW1-7/8'-12 1.20
BT40XTG100-70 135.4 70 1.20
BT40XTG100-100 | 165.4 100 60 TW1-7/8"-12 1.30
BT40XTG100-120 | 185.4 120 63 2.40
BT40XTG150-150 | 170.4 150 2.70
BT40XTG150-120 [ 185.4 120 82 TW2-5/8"-12 2.90
BT40XTG150-135 | 200.4 135 M24 X 2.0P 3.20
BT50X TG100-85 186.8 85 3.40
BT50XTG100-100 [ 201.8 100 60 TW2-5/8"-12 4.40
BT50XTG100-120 [ 221.8 120 100 5.10
BT50 X TG150-90 191.8 90 5.70
BT50XTG150-105 [ 206.8 105 82 TW2-5/8"-12 6.10
BT50XT1G150-120 | 221.8 120 6.50

MAS 403-1982%1 T
RETENTION KNOB

B R7/Unit:mm

#-SModel D D1 D2 M L L1 L2 H H1 8

LD-BT30(8) 12.5 7 il M12 43 23 18 5 2.5 30° 45°
LD-BT40( 8 ) 17 10 15 M16 60 35 28 6 3 30° 45°
LD-BT45(8 ) 21 14 19 M20 70 40 2 8 4 30° 45°
LD-BT50( 8 ) 25 17 23 M24 85 45 35 10 5 30° 45°




HizR SN IIH
COMBI SHELL END MILL ARBOR

[ 1]

[
B A7/Unit:mm
#=Model BT NO. Xd-L1 - D D1 HEEWH(Kg)
BT30 X 13-55 28 SILTS 1.00
BT30X 16-55 32 SH 1.00
BT30X 16-100 32 31.75 1.20
BT30 X 22-55 40 31,75 1.20
BT30X22-100 40 31.75 1.40
BT30X 27-55 48 a1.75 1.20
BT30X27-100 48 SINTH 2.00
BT30X32-60 58 155 1.50
BT30X 32-100 58 87 2.60
BT30 X 40-60 70 31.75 2.30
BT30 X 40-100 70 SiNES 8:50
BT40X 13-55 28 44 .45 1.00
BT40X 16-55 32 44 .45 1.20
BT40X 16-100 32 44 .45 1.50
BT40 X 22-55 40 44 .45 1.25
BT40X22-100 40 44.45 1.85
BT40X27-55 48 44 .45 1.50
BT40X27-100 48 44 45 2.00
BT40 X 32-60 58 44.45 1.50
BT40X 32-100 58 44 .45 2.30
BT40 X 40-60 70 44 .45 2.00
BT40 X 40-100 70 44 .45 3.00
BT50X 13-63 28 69.85 3.50
BT50 X 16-63 32 69.85 3.60
BT50X 16—-100 32 69.85 4.00
BT50X 22-70 40 69.85 370
BT50X22-100 40 69.85 4.00
BT50X 27-70 48 69.85 4.00
BT50X 27-100 48 69.85 4.40
BT50X 32-70 58 69.85 4.20
BT50 X 32-100 58 69.85 4.70
BT50X40-75 70 69.85 4.50
BT50 X 40-100 70 69.85 5.00
BT50X50-75 90 69.85 4.60
BT50 X50-125 90 69.85 7.20




Wwilda

Py shiEsT

DRILL CHUCK ARBOR

NO.S

=
L
B {7/Unit:mm
BT NO AN S-L 1 L2 L D D1 e E8 Wilko)
BT30-J1-45 16.669 110 9.754 3175 M12 0.60
BT30-J2-45 22.225 115.6 14.199 31.75 M12 0.70
BT30-J2S-45 19.05 112.4 14.94 31.75 M12 0.70
BT30-J3-45 30.956 124.4 20.599 31.75 M12 0.80
BT30-J4-45 42.069 135.4 28.550 31.75 M12 0.85
BT30-J5-45 47.625 141 35.890 31.75 M12 0.90
BT30-J6-45 25.4 118.8 17.170 31.75 M12 0.75
BT30-J33-45 25.4 113.8 15.850 31.75 M12 0.75
BT30-J10-45 14.5 107.9 10.094 31.75 M12 2.40
BT30-J12-45 18.5 111.9 12.065 31.75 M12 0.60
BT30-J16-45 24 117.4 15.733 31.75 M12 0.70
BT30-J18-45 32 125.4 17.780 31.75 M12 0.82
BT40-J1-45 16.669 1271 9.754 44.45 M16 1.15
BT40-J2-45 22225 132.6 14.199 4445 M16 1.25
BT40-J2S-45 19.05 129.4 13.940 4445 M16 1.20
BT40-J3-45 30.956 141.4 20.599 44 .45 M16 1.45
BT40-J4-45 42.069 1525 28.550 44.45 M16 1.55
BT40-J5-45 47.625 158 35.890 44.45 M16 1.60
BT40-J6-45 25.4 135.8 17,170 44.45 M16 1.30
BT40-J33-45 25.4 135.8 15.850 44.45 M16 1.30
BT40-J10-45 14.5 124.9 10.094 44.45 M16 1.40
BT40-J10-120 14.5 199.9 10.094 44 .45 M16 1.76
BT40-B12-45 18.5 128.9 12.065 44.45 M16 1.34
BT40-B16-32 24 121.4 15.733 44.45 M16 1.40
BT40-B16-45 24 134.4 15.733 44.45 M16 1.45
BT40-B16-75 24 164.4 15.733 44.45 M16 1.55
BT40-B16-90 24 179.4 15.733 44 .45 M16 1.60
BT40-B18-45 32 142.4 17.780 44.45 M16 1.70
BT40-B18-75 32 172.4 17.780 44.45 M16 1.76
BT45-B16-90 24 196.8 15,733 51.75 M20 2.30
BT45-B16-100 | 24 206.8 15733 51.75 M20 2.40
BT50-J1-45 16.669 163.5 . 19\754 69.85 M24 3.60
BT50-J2-45 22.225 169 14.199 69.85 M24 3.95




BA {37 /Unit:mm
BT %%'\,Q%d_g'_ L1 L2 L D D H4F Draw Bar EE Wikg)
BT50-J2S-45 19.05 165.9 13.940 69.85 M24 3.90
BT50-J3-45 30.956 77,8 20.599 69.85 M24 3.70
BT50-J4-45 42.069 188.9 28.500 69.85 M24 3.75
BT50—J5-45 47.625 194.4 35.890 69.85 M24 3.80
BT50-J6-45 25.4 172.2 (N0 69.85 M24 4.00
BT50-J33-45 25.4 ilic2:2 15.850 69.85 M24 4.00
BT50-B10-45 14.5 161.3 10.094 69.85 M24 3.60
BT50—B10-100 14.5 Bico 10.094 69.85 M24 3.80
BT50-B12-45 18.5 165.3 12.065 69.85 M24 3.60
BT50-B16-45 24 170.8 16733 69.85 M24 3.65
BT50-B16-60 24 185.8 15.733 69.85 M24 370
BT50-B16-75 24 200.8 15.733 69.85 M24 374
BT50-B16—90 24 215.8 15.733 69.85 M24 3.78
BT50-B18-45 az 178.8 17.780 69.85 M24 370

=TS TIFF ABY

END MILL ADAPTER TYPE A

FI92 s r/Unitimm
E S D L60 c H h H, G Fig | EBWi(ka)
BT30-6-60 6 60 20 5 - - M6 1 T
BT30-8-60 8 60 24 16 — — M8 1 .2
BT30-10-60 10 60 32 6 — — M8 1 92
BT30-12-60 12 60 35 20 — — M10 i 1.2
BT30-16-60 16 60 40 22.5 — - M10 1 1.2
BT30-A20-75 20 75 50 24 145) 55-70 M14P=1.5 2] 1.2
BT40-6-65 6 65 20 5 — — M6 1 1.6
BT40-8-65 8 65 24 15 — — M8 il 1.6
BT40-10-65 10 65 30 16 — — M8 1 1.6
BT40-12-65 12 65 35 20 — — M10 1 16
BT40-16-65 16 65 40 23 — — M10 1 7
BT40-A20-90 20 90 50 24 21 55-70 Mi4PR=1L5 2 1.8
BT40-A25-90 25 90 =16) 24 21 55-70 M14P=1.5 2 U7
BT40-A32-90 32 %0 60 25 25 55-70 | M16P=15 | 2 1.9
BT50-6-75 6 745 20 5 — —_ M6 1 4.3
BT50-8-75 8 75 24 15 — = M8 il 20
BT50-10-75 10 75 30 16 - = M8 1 4.8
BT50-12-75 12 75 35 20 — - M10 1 4.3
BT50-16-75 16 745) 40 23 — = M10 il 45
BT50-A20-105 20 105 50 24 21 55-70 M14P=1.5 2 4.8
BT50-A25-105 25 105 50 24 21 55-70 MI14P=.5 2 4.7
BT50-A32-105 B2 105 60 25 25 65-80 M16P=1.5 2 4.9
BT50-A42—-105 42 TS 90 30 32 85—-100 M20P=2.0 2 6.6




Wwilda

BEIIHE T4 BE
END MILL ADAPTER TYPE B

: 4847% Screw Sleeve @SA> BEE
e — Screw Sleeve

— 1
5
. H
] DAy

B A7/Unit:mm

HEBModel BTNO-D-L | D | L 1 - c | w | polRaE . lERWKg
BT30-26-105 26 105 117-142 40 50 5 DS26-MT1,MT2 14 15
BT40-26-105 26 105 117-142 40 50 5 DS26-MT1,MT2 1.7 25
BT40-35-135 35 135 147-182 55 60 6 DS26-MT1,MT3 24 30
BT50-26—105 26 105 117-142 40 50 5 DS26-MT1,MT2 1.8 4.7
BT50-35-120 85 120 132-167 5% 60 6 DS26-MT1,MT3 56 55
BT50-35-135 35 135 147-182 55 60 6 6.4 6.0
BT50-48-165 48 165 181-227 65 80 8 DS48-MT3,MT4 8.4 8.1

BB R
SHELL MILL ARBOR

B A7/Unit:mm
E1SModelBTXA-L1| D  |yykg) 2SModelBTXd-L1| D WEE(;;!;) ESModelBTXd-L1| D w%(-%)
BT30X16-60 32 1.0 | BT40X27-120 48 2.3 |BT50X22-75 40 4.0
BT30X22-60 40 1.8 |BT40X32-45 58 1.2 |BT50X22-100 40 4.5
BT30X27-60 48 1.5 | BT40X32-60 58 1.5 | BT50X22-120 40 5.0
BT30X32-60 58 1.8 |BT40X32-75 58 1.8 [BT50X27-60 48 5.5
BT30X40-60 70 2.2 | BT40X32-120 58 2.8 | BT50X27-105 48 4.0
BT30X50-70 920 4.5 | BT40X40-60 70 2.0 | BT50X32-60 58 4.5
BT40X16—45 32 1.0 | BT40X40-75 70 2.2 |BT50%32-75 58 1.6
BT40X16-60 32 1.3 | BT40X50-70 90 2.5 |BT50X32-105 58 1.8
BT40X16-120 32 1.7 | BT45X22-60 40 2.6 | BT50X40-60 70 2.2
BT40X22-45 40 1.5 | BT45X27-660 48 2.8 | BT50X40-75 70 3.6
BT40X22-60 40 1.7 | BT45X27-100 48 3.1 | BT50X40-90 70 3.7
BT40X22-100 40 3.0 | BT45X40-100 70 3.4 | BT50X40-100 70 |3.75
BT40X22-102 40 3.6 | BT45X40—105 70 3.5 |BT50X40-105 70 3.8
BT40X27-45 48 1.5 | BT50X16-60 32 3.6 |BT50X50-60 90 4.0
BT40X27-60 48 1.6 |BT50X16-75 32 3.9 | BT50X50-70 90 4.2
BT40X27-75 48 1.8 | BT50X16-120 32 4.3 | BT50X50-120 90 a4y
BT40X27-105 48 2.1 | BT50X22-60 40 5.0




BRI

SIDE CUTTER ARBOR

30

H1

H2

_BTNO.
ffffffff ﬁB‘GPﬁD mc{ ;‘DC Emc

B A7/Unit:mm

BEModelBTNO.-D-L | oD(h1e) | L | ocC & He | Ho | He | K | W |EBWikg)
BT40-12.7-60 12,75 60 | 20 [M12X1.25| 15 12 - = 1.2
BT40-15.875-75 15.875 75 | 26 | M14x15 | 16 13 [17.42] 3.18] 14
BT40-22 99575 22,295 75 | 84 | M20x15 | 21 | ° [ 18 |2382] 3.18| 17
BT40-25.4-75 254 75 40 M24X2 25 1 21 [27.78| 6.35| 2.0
BT40-25.4-120 254 120 | 40 M24X2 25 - 21 [27.78] 6.35| 25
BT40-31.75-90 81.75 9 | 46 M30x2 | 30 26 |34.92(34.92| 26
BI50 12 75 75 12.75 75 20 | Mi12xX1.25( 15 12 - = 3.9
BT50-12.75-105 12.75 105 | 20 [M12x1.25| 15 12 - ~ 4.0
BT50-15.875-90 15.8756 9 | 26 M14X15 | 16 13 |17.42| 3.18 | 40
BI50 15875 120 15.875 120 | 26 M14X15 | 16 13 [17.42| 3.18 | 4.2
BT50-22 225_90 22 205 90 | 34 [ M2ox15| 21 | . | 18 [2382] 318 45
BT50-22.225-135 22.225 135 | 34 M20x1.5 | 21 10 18 |23.82| 3.18| 4.7
BT50-25.4-90 25.4 90 | 40 M24x2 | 25 | 55 | 21 [27.78| 635] 47
- BT50-25.4-135 25.4 135 | 40 M24xX2 | 25 21 |27.78| 6.35| 5.1
BT50-31.75-90 31.75 9 | 46 M30x2 | 30 26 |34.92| 792| 51
BIS0 31 75 13t S5 135 | 46 M30X2 30 26 (3492|792 57
BT50-38.1-90 38.1 9 | 55 M36X3 | 36 31 |42.06| 952 | 58
BT50-38.1-135 38.1 135 | 55 M36X3 | 36 31 |42.06| 952 | 6.7




Wilda

HI=5E T
BORING ARBOR

B AR7/Unit:mm

H2Model BTXM-L1 | L w%(%) #SModel BIXM-L1 | L w%%) B EModel BTXM-L1 | L Wt(l%)

BT40X7/8'-20-45 |122.4| 1.4 |BT50X7/8'-20-45 |188.8| 4.3 [BT50X1-7/8'-20-80 | 1938 | 4.7
BT40X1-1/2'—18-45| 122.4 | 1.4 [BT50X1-1/2'-18-45 [ 188.8| 5.0 |BT50X1-1/2"-18-80 | 1938 | 5.2

RRTER
MORSE TAPER SLEEVE WITH TANG

BA7/Unit: mm

MT.%(S%SM(?\SIj?.lNO.T D d L EBWi(Kg) ¥ B Accuracy

1-0 13 9.045 80 0.10

e 18.6 12.065 95 0.10

31 241 12.065 99 0.24

3-2 24.7 17.780 112 0.12 0.015
4-1 3.6 12.065 124 0.60

4-2 31.6 17.780 124 0.50

4-3 32.4 23.825 140 0.38

91 447 12.065 156 1159

B 44.7 17.780 156 1.49

5-3 44.7 23.825 156 1.36

5-4 45.5 31.267 171 0.62

6-1 . 63.8 12.065 218 3.84 0.02
82 63.8 17.780 218 3.73

6-3 63.8 23.825 218 3.50

6-4 63.8 31.267 218 3.12

6-5 63.8 44.399 218 1.95




HREAE KRR
MORSE TAPER DRILL CHUCK ARBOR WITH TANG

B A7/Unit:mm

#ISModel #I-SModel S Model

MT.NO.-NO.S d L MT.NO.-NO.S d L | MT.NO.-NOS d L
MTAO-B6 6.350 75 MTA2-B22 21,793 128 MTA4-B18 17.780 164
MTAO-B10 10.094 80 MTA2-B24 23.825 138 MTA4-B22 21.793 172
MTAO-B12 12.065 84 MTA2-B18S 17.431 113 MTA4-B24 28,8256 182
MTAO-B16 15.733 | 91 MTA2-J0 6.35 94 MTA4-JO 6.350 | 138
MTAO-B18 17.780 99 MTA2-J1 9.754 100 MTA4-J1 9.754 143
MTAO0-B22 21,793 108 MTA2-J2 14.199 105 MTA4-J2 14.199 149
MTAO-B24 23:825 118 MTA2-J3 20.599 114 MTA4-J3 20.599 158
MTAO0-JO 6.350 73 MTA2-J4 28.55 125 MTA4-J4 28.550 169
MTAO-J3 20599 | 93 MTA2-J5 35.89 130 | MTA4-J5 35.890 | 174
MTAO0-J33 15.850 88 MTA2-J6 17.17 108 MTA4-J6 17.170 152
MTA1-B10 10.094 86 MTA2-J33 15.85 108 MTA4-J33 15.850 152
MTA1-B12 12.065 90 MTA3-B10 10.094 120 MTA5-B10 10.094 77
MTA1-B16 15733 97 MTA3-B12 12.065 124 MTA5-B12 12.065 181
MTA1-B18 17.780 | 105 | MTA3-B16 15,733 | 131 MTA5-B16 15.733 | 188
MTA1-B22 21.793 114 MTA3-B18 17.78 139 MTA5-B18 17.780 196
MTA1-B24 23.825 124 MTA3-B22 21.793 147 MTA5-B22 21.793 204
MTA1-J0O 6.350 79 MTA3-B24 23.825 157 MTA5-B24 231825 214
MTA1-J1 9.754 85 MTA3-J0 6.35 ke MTA5-J0O 6.350 170
MTA1-J2 14199 | 90 MTA3-J1 9.754 118 | MTA5-J1 9.754 | 175
MTA1-J3 20.599 99 MTA3-J2 14.199 124 MTA5-J2 14.199 181
MTA1-J4 28550 | 110 | MTA3-J3 20599 | 133 | MTA5-J3 20599 | 190
MTA1-J5 35.890 116 MTA3-J4 28:55 144 MTA5-J4 28.550 201
MTA1-J6 17.170 94 MTA3-J5 35.89 149 MTA5-J5 35.890 206
MTA1-J33 15.850 94 MTA3-J6 i 127 MTA5-J6 17.170 184
MTA2-B10 10.094 101 MTA3-J33 15.85 127 MTA5-J33 15.850 184
MTA2-B12 12.065 105 MTA4-B10 10.094 145 MTAG-J6 17.170 246
MTA2-B16 15,7338 12 MTA4-B12 12.065 149

MTA2—B18 17.780 120 MTA4-B16 15733 156




Weifang Wilda Machinery Co.,Ltd.

Address: Ze Er Zhuang Industrial Zone, Wei Zhou Lu Bei Duan,
Weifang, Shandong, P.R.China.

Tel:(86)-536-8651769, Fax:(86)-536-8668039

Mobile: 0139 5360 6679 / 0135 0649 6031

E-mail:wilda@public.wfptt.sd.cn / victwang@hotmail.com




